[bookmark: _GoBack]Kids questions answered on size comparison of planets/moons
By volume smallest to largest number
How many moons fit to earth? –	50
How many Earths fit into Neptune? –  	57
How many Earths fit into Uranus? –  	63
How many Earths fit into Saturn? – 	700
How many Jupiter’s fit into the sun? -      1000
How many earths fit into Jupiter? –  	 1300
How many Venus fit into Jupiter? -  	 1400
How many Mars fit into Jupiter? – 	 8780
How many Mercury fit into Jupiter? – 	 24,462
How many Pluto’s fit into Jupiter? – 	 200,000
How many Earths fit into the sun? – 	 1,300,000
How many Earth Moon fit into Jupiter? – 1,631,000


 

